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9]з220 0 з0!ч[:!' п[чпгцшр шц ||1иг 400 125 0 500 0

гъ+ц|гьъо 500.0
142')1100 !{шч шш ц4

'1450 600 870 0
142211о0 ш шш 1 0000 2 200

гъ+ц[{ьъг 890.0
14521171 :п!шошп шц Бшш 250 20 5.0

съ+ц!!ььс 5,0
147|1 00 ,рцшР шц 0 5000 2о 100 0

! 4781 з00 !шшп!:пдц] !л.1 !ч 500 5 25
14721)0о ш11лгг|[:![т оршо[:г шц !ц 5000 5 250

съ+ш[ьъс 127.5
1481']з 00 ц и!шт]шпш! 1 ш|.1 ьши 200 30 60
14 в113 0 0 з1!п1 ш!шг]шпш[1 2 шш Бши 100 10 10
]48] ] з00 эг1!пц ш!ш(шпш! 3 /фш::Бо!пп' шппг;п/ шц |шш -300 |5 45
!48']1з00 э1!п1 ш!шс]шпш! 4 /фш::Бо!пп' щпг1щши/ !'ш Бши 300 з0 9.0

сь+ц!]ььР 20.5
155411 00 4шт/пг шц ч9 770о 77
1554224о '[цшр щш!!р шц |+ч 5000 50

сь+ш[]ьъс 12.7
! 5в21 500 р]тс{ш6ршр1!:рт: ьр шш цч ! 800 5 9.0

1 5вз] 000 2шршршг]шч шч[иш[1 шц !ч з50 5 1.8
1 5в421 1 0 !п!фЁш' 2п!п1ш4шщши шц чч 4000 5 200

] 586]з00 шпгр6,1пг6г{пг1 шш :чч 120 0 5 60
1586з200 рБ1, ш1.: шш !ч 1 000 2 2.0

оъ+цшь1,о 38.8
']5 9з1700 ч|!! |1шрт]|р шш Бшш з000 15.0
1 5931 800 9[:![: шщ[:шш|1 шц Бшш 2500 5 12.5
1 5981 500 1пг{ш9пг9[:1 рг!щБ1!р!ьр /р!ш!ш! Б;пгр0п/ шц Бц;пл в00 15 12.о
1 5981 500 чпс{ш9 п г9 |1 р0щь1[:р! ьр /чшч ш г{п р с]ш6 Б] птр6п/ шц ьши 500 18 90

Ръ+ц|-{ьъР 48.5
!8111100 шрлшг1рш!чш! Бшипг! Бшчптши 1 шш ши 5000 2о 100 0
| 81111 00 лриш1рш!ш! Бшип:[1 Бш4птои 2 шш Бт:;пл 25000 20 500 0
18141100 ш2|шшиш!рш1|! ё!п!п9[Бр /ршг1рщфщ/ шш шл 2500 50 125.0

оъ+ц!-гьъо 725.о
183 1190 рш0рш!1ш шш Бши 1200 7 8,4

съ+('1!'|ьъс 8.4
1842',]']з0 }!п!п9!Бр' рш!(прш!ш!: шш ч п!!ч 21о 40 84
18421]з0 ! &п0п9! !р ш|-.] Бщи 400 180 72.о
18421140 )Б!чш!чш01 ш о9ишчпр6г1ш! 6Ёп!п9![р шш чп|]4 1 000 12о 120 0

оь+ш|-|ььо 200.4
19241)о0 +пп6с{ш6р!Бр 7рш0ршфш/ шц 1Бир 1 500 30 45.0
1924 100 1пр6с{ш6р!Бр /о|!р6ш[!, шр9ш ш!1 с1Бид 2000 3 60
19)-41)о0 }пр6г{ш6р!!д /чпч!п9|:7 шш г!Бшр 3000 8 24.о
19211 00 зшг1рш[1ш !ипр!Бр /и[тшг1ш, 3 цг] :щ;!./ !л.1 т!Бир 250 )о 5.0
| 9211200 :ш0рш[1ш [1шпр![р /и|шг1ш' 2 шс1 1ш1!'/ шц ц.10и 2оо 2о 4.0
| 921 1 200 :ш,т.1ршфш !ипр!Бр /и|шг!ш' 1 шг| 1ш1!./ шш г)!ир 150 20 30

ръ+ц!!ьъо 47.0
19441204 Рь| шц лпгф 100 0 10 10.0
19441)оо р!1 /рргцш/ !л..1 Бши 2000 6 12.0

оъ+ц|]ьъс 22,о
1 9641 000 ц]пг|[р[гБ!ш:}:|; щшпч' шг|Рп ьшг1шр (15!ч) шц Бщи 200 500 100 0
19642200 ц.]пг[т|р|гь!ш.1[:! щшр!, ш!!4ш1|! шц Бшгл 900 100 900
'19642100

щп:[[р['тБт:щ.1[т! ш; 1 шршшг1рш!р шш Бщш 550 170 о2 д

сь+ш[ьъо 283.5
2)11115о ршриБ9 /ц|шц[[ц шш ьшш 1 000 3 з.0

оъ+ц|!ьъс 3.0
22811110 шршчш!шр 1 шш ьши 100 во 80
22811110 шршчш!шр 2 /щ:шцш[!/ !л,1 Бши 200 60 12 0
22в11150 пршиБир6р 1 шц 6ши 1 650 20 з30
22811170 !ч1п:! рЁрр[!!Бр !2пгг1!Бр[: Бшт1ш |л.1 Бши 500 30 15 0
22811170 рьрр!!ч!ьр !2пг0![р| Бшг1шр шш Бши 375 60 225

сь+ц!-гьъг 90.5
243)14оо ;щ|ри ра2!ш[1ш! шц |пшг 1500 5 75
24з21340 ;рш!п1 |,|] !пип 1 800 50 90 0
24311210 орлп$пш}прш[1ш! ррпп шш :чч 1200 з0 360
24311з7о !шир[тпг0[: Б[щпр1п1" ш|.-1 !ч 200 20 4.0
24з11210 эрипфпш$прш!ш! ррпп шц т..тч | 200 з0 360

оъ+(-!{]ьъс 7.5
24451 1 1 0 6|т9шишсщш! ! шц Бщш 750 100 754
24411400 э61пг!ч ш0п!!ш[-1 шц |пир 1 200 2 24

оъ+ц|]ьъо 77 .4
2491 0000 шпш|!ё 1 !.,|.1 Бши 400 50 2 0.0
24961 600 оц[:ри 1 ,750 г11/ шц Бщи 2000 )о
24961 600 :щ!рш 2 |л.1 {пир 1 500 ) 30
24911)оо опш|!6' [г1пт1ш!:ш шш ч9 125 0 2 25
24911700 ;пш[:!ё' шпгч[д 502 !.,|1 Бши 400 5 20



-,___"_ 24911 600 ,п0пт,6, {п|1ь!,и шш Бщш 500 25
24951130 :[:1[:!п!Б ршпг!!Бр !.л.1 Бшш 2000 25 5 0.0

оъ+ц[|ьъс 82.0
з0140000 ь.:,1[': шш Бши 335 0 10 3з.5
30197622 рпг1р' А4 $пр0ши[т шш цч 2000 150 300 0
301 92130 0ши!и!Ёр !'|1 Бши 100 250 25.0
3 0'1 92121 +рп! 9т,4пц шш Бшш 100 500 500
301 921 00 п!ш!1: шц [ши 250 50 12.5
з0]92]54 '1![:р|т 1рш9пг9!1 ршрё[р ш!1 Бшпл 2000 2.0
3 01 921 зз ]пп11' ьп шц Бши 60 60 36
301 92125 16ш!2[:1 (0шр!ьр) цц Бши 500 4о 20.0
зо197'о аг1р[: шт1рш!!Бр 1 шш Бщи 100 60 6.0
30197220 аг1р| шг|рш{-4!Бр /чп:!шт.1пп/ 2 шш ипгф 500 2 1.0
зо197220 шг!р ш [-1 шш Бши 4000 5 20.0
301 921 60 2ирпр шш Бши 200 50 10.0
з0] 92750 }1лг!шшиБд!Ёр[т ипгф, 12 чпч!: шц ипгф 1 000 5 50
з0] 95920 г|ш9![:шш!ш! чршшш}шиш[1 шш Бц;гл 1 0000 з 300
з0196]00 1пг!ьр! ч1ш!шг{прг!ш! р1п!!пи!!р !'ц Бши 3000 9 27.0
30] 973з2 г}шч|1 шц Бштл '1000 5 5.0
з0] 972з1 вг1ршщш!ш!, щп1[:0Ёрш1[:! рш4ш!р шш }:ши !-1 2000 250
301 97340 пп' шц Бши 300 25 7.5
з01 97321 ..]шрп' шц !шш '1500 10 150
301 97231 а1ршчш!ш!!Бр' чп1!с|ьрш1}:! рш1ш!р, }ш11пг{ шц Бши 400 36 144
301 97233 Рпршщш!,шц, рь!пц' р0р!ш ш|-1 }:щш 100 50 5.0
301 97230 1, пБ9[:шир шц Бши 800 100 80.0
з01 975]1 и{шршРп|г|Р шц пши 600 50 300
з01 92780 ;2шршаш|,п1 шш Бши 500 140 70.0
3о1922з2 :(4п1 р1р! шц Бши 670 50 33.5
301 922з1 :[1'! шц Бшл 550 50
301 922зз ;!1[:!л! шш Бгшпл 90 50 4.5
з0141)40 :ш!'4[т1 г1ршг!шр!г1ш1[:! т|[рБ!ш!Бр шш Бши 1 з0000 1 130.0

оъ+ц|!ььс 99з.0
30211200 1п:рш!|р Бшт1ш!шрч[:1 о/ Бши 550000 2 1100 0
зо)-11))0 [ш0ш!шрч[:1 шБрг.{Бр|: +< Бц;пл 3800000 3800 0
зо211220 ! Бш0ш!шрч[:5[Бр 1 +< Бши 350000 3 1050 0
30211220 ! Бшг!ш!шр4!1![р 2 +< Бши 240000 11 2640.0
3о237490 !шрч1ш1[:! 0п![:шпр 1 \/ бши 80000 з 240.0
3о2з7490 ;!шр41ш1!! т!п![ипд 2 +< Бши 70000 1з 910 0
3021 611 0 ш!ш!Бр 1 +< Бщи 1 50000 150 0
30216110 ш!;ш!Бр 2 +< Бши 1з0000 130.0
з023]з00 1чп|0п(1 (4шпшс{шрг{пц [[апш!!Ёл +< Бшгл 4500000 4500 0
3 02з21 3 0 лщп' +< Бши 1 50000 4 600.0
30232130 лч[:1 /чпг!ш(пр/ +< Бц;цл 400000 400 0
з02361'10 очьпшшп{ Б|2пг1пгцпг! +< ьши 1 5000 6 900
зо237460 Бшт!ш!чшрч1ш1[:! олЁфш2шр[р 9< Бши 5000 10 50.0
зо237412 г!![[:!' ьш0ш|1шрч1ш1['! ш!,1шд +< ьши 3000 10 30.0
302з724о и [шш[ш9}:!1 +< Бши 20000 10 200.0
зо232231 [шг|ш!шр91! !л2и ш!шг]шпшч о/ Бши з0000 5 150.0
302з7111 ш!пг9с1ш! т!шрл!п9 1 9< [щи 50000 '10 500.0
30237111 ш!п:9г1ш! 0шри!пч 2 +< Бши 350000 350.0

съ+ш!!ььс 16890.0
311211 00

| ч[!Б[:ш9!пг| цшпР6п /чЁ!Фшипр/ +< [ши 4000000 1 4000.0
сь+ц!"|ьъо 4000.0

з12212оо -{шрг1ш!!Бр шш Бши 700 з0 21.0
з122120о трп9!Бр[ Б1ш![:!!Бр'| шц пши 500 10 5.0
з1211221 ш!9ши[:1!Бр шш Бши 1 200 з0 36.0
з1211221 )ш1пг|ш!Ёр[: г1[ш9г!ш! Бшс{шрш6пг!Ёр шш ьши 20000 2 40.0

оъг}|,-1шь!с 102.0
3144223о ]п|ишцп! т1шри!чп9 шш |ши 400 60 24.0
31441 000 )шри!п9 ААА шш Бши 700 6 4.2
31 441 000 {шри!п9 АА шц Бши 500 7 з5

съ}шшь1,г 31.7
31 521 2 00 гш0щ 1 /18 ц1и/ шц Бшш | 700 100 '170.0

31 521 200 1шс1щ 2 /18 .{и [-Ё!/ шш Бши 800 150 120.0
з1 521 20 0 1шг|ч 3 /8 .[и, иЁрс1пщ1шши/ шш Бши 1 000 295 295.0
з1521200 1ш0ч 4 /18 .1и' иБр0лч1шши, ш[:9[:!/ шц Бши 1 000 97 97.о
31 521 200 !ш{щ 5 /в 27 шц Бшгл 25о0 4о 100.0
31 521 1 00 1ш{щ цьпш|, шш бши 600о 2 |20
3] 5з1400 1пгшшшпг /9ш}т/ шц Бши 25000 8 20 0.0
31 51 23 60 |п!ц |'ц Бши зо0о 2 60

съ+ш.,гьъс 1000.0
31 631 1 00 0ш9![:ш шц Бц;пл 500 з1 15.5
з']65]400 :]![]пгц[:: ёшщщг-{0! &Бц/ шш Бши 650 10 65
31 651400 г1&!пгш!1 0шщшг{[! /1ш1!/ шш Бш тл 1 500 6 90
з1 685000 16!чирш!чш! Бр!шрш9т-|ш! 1шр шц Бши 45 00 10 45.0

оъ+ц(]ьъс 76.0
з]7]1']60 1Б!шрп4 шш ипгф 4000 5 20.0

съ+ц|!ьъо 20.032з41з20 
|

пшг||пцшпРБр /пшг}[:п9|4[: Бшг1шрш6пг/ шш Бщи 1 000000 1000 0

съ+ц{]ььс 1000.0
з24)-1зоо 9ш!9ш1[:! рш6ш!шршр 1 шш Бщи 15000 2 300
32421зоо 9ш!9ш1|т! рш6ш!шршр 2 шц [тшш 200000 200.0
з24211оо 9ш!9ш1[:! г!ш1п:|ш!Бр шц Бшгл 300 1 000 300.0
3244220о рш2|ш0ш! шр!1Бр /шБрг{Бр[ щшБшрш!/ шц Бшш 350000 1 350.0

съ+ц|'ьъс 880.0
33141129 |-[Ё!ш!чш г|1 ш очи шчп р&0ш! ра2|1 ш11ш! г1! г!ш !1 шц Бши 30 2000 6 0.0

з314]2] 5 Ршг|рш!ч р*2!ш!ш1: шш !ч 3000 3 9.0

331 3] з4 0
|-[Б!ш!чшг|1ш очиш9пр6{ш! шиш0!шрпг*ш[1ш[:

чпр6!р!Бр
шш Бщи '1500 10 150

з3141 1 57 12ишр!!р [: шш1дБр шш Бглгл 50 200 10 0

з3]411']4 г}ш!ч|( рё2|1ш!ш!, 1ш1!. 90шс| |,|] Бши 1 500 з 4.5

съ+ц|]ььс 98.5
33621 641 [ш!ш!!|ш[: /ш!ш[тшьчи|!/ [ ш|шишБш![:1 0[2п9!йр ш|.-1 Бщи 200 85 17.0
3з691в49 ш9бшп|: шш |пип | 200 5 б ()

зз 6 9]в60 ш9Ёип! /0.5/ шш |пшп
'1600 50 800

съ+ц!]ььс 103.0



зз761 000 чп!чшпш|,п рп|лр, пп|]п|,пц шш Бши 100 2500 250.0
33761 з 00 цпРп1 ршь шц Бши 3800 100 380.0
3з76] 4 00 ш!6!пп9 ! !1 шц Бши з00 300 90.0
33741 400 !Бпрьр|т Бш!чшрш!и6р[:ш1 0|9п9!ьр /ш1!п9!1/ шц 1пип 320 0 60 '192.0

съ+ц!]ььс 912.о
34351 200 ш!}:(!Ёр шш 6ши 5000 4 20.0

съ+ц['ьъс 20.0
з49] 1 1 20 пгцБрБп[: шш11ш!1 шц Бши 25000 2 50.0
34921440 л1ршг!ш!!Бр /ш!цш![:: ш|-] Бши 1 500 )о 300
з49)144о л1ршт|ш!!Ё шш Бштл 1 2000 2 24.о

съ+ц[]ьъо 104.0
з84] 1 200 2Брт1ш1шф /|0пшБшр/ шц Бши 1 8750 2 37.5

оь+ц[|ьъс 37.5
з865]180 }пип!!шршБш!0ш! |т9|[1 +< Бши 2800000 1 2800.0
38 651 1 70 Бшил:! 1п:шш!!шр1ш!ш! |ш9[:[1 +< Бшш 600000 1 600.0
з8651 1 60 ас{ш1[:! 1пгшш!!шр1ш!ш! шчшрши![р +< Бши 800000 1 800 0

съ+ц[ьъс 4200.0
з 91з2]70 п|9шфьпцьп +< Бши 500000 17 8500 0
з 9]38220 лрпп![р 1 /чршшй!1ш!ш1!!/ +< Бшш 67000 з 201.0
з 9]з в220 шрпп!!р 2 /спщшБ!: +< ьшш '13300 ),0 з99 0
з9138220 +< Бши 1 0200 30 306.0
39121420 {0ш0ьпщт, щшьшпшт,ь{,л' /спл6т]ш6оБ: Бши 35000 1 350
39121420 : чш[шрш![:!пг] +< Бщи 1 5000 1 15.0

оъ+ц(гььс 9456.о
39221340 0Ё|1ш!9шг11ш очиш9пр6г!ш! шфшБ шц Бши 15 500 75
3 9221 з5 0 очиш9пр&0ш! ршёш!!Бд 1 шш Бши 15 1 000 15 0
3 9221 35 0 1[!ш!чшт!;ш очишчлр}0ш! ршёш[1!ьр 2 шц Бши 100 100 10 0

з 92213з 0
Бш! рш1 [:! ш!! 4| ! шчс)ш|1Брщг{ш! т!Б! ш!чшт.[1 ш

оошшопп6ц1ш! !:пгрБл шш
ипгф 500 3 15

з9221210 ц ! пги Ёп|[п шц Бши з500 5 175
з9221]30 эшёш14 /2ш0щш1![:/ |'|] Бши 2200 12 264
з922]130 рш0ш! /4[:'!пг/ шц Бщл 2200 12 ) 6.4
з 922']13 0 зш6ш! /Б1пгр[:/ !л.1 Бщи 500 12 60
з9221140 рш6ш! /цп:п6[:/ шц Бщи 1 000 12 12-о
з9221140 :шёш! /рЁ1[:/ шш [ши 1500 1) 180
39221260 шфшБ шш Бши 700 12 8.4
39221300 :рш0ш! /9рш$!!/ !л.1 Бши 8000 2 16.0
з9221з80 +пш! рь шш 6ши 650 12 7.8
з92244з0 т1п п1 шш Бши 100 400 40.0
3 9224530 ш!ь1 шц ип|ф 1 000 5 5.0
з 922433] 4пц[ щ!ш шц Бштл 5500 10 550
з9,14)о '] /шлпчп/ шш Бши 250 30 7.5
з9'-142о |шпчш!ш! 2 /щппщши/ шц Бши 250 60 15 0
39221440 г{р6[:т: ] шш Бши 400 5 20
з9221440 г.]ра[т:2 шш Бшгл 2000 5 10.0
39221460 г{р0|! !0р!шршрш!4ш! шц Бши 2000 10 20.0
3922149о шчпг!ч 1 /! ог!/ цш Бшш 1 000 10 10 0
з9221490 шчпт!ч 2 /2 ш0/ шц Бши 1 880 10 18.8
39221490 :чп:!ч 3 /3 шг!/ шш Бщи 2840 '10 284
з9))1490 цчпг!+ 4 /4 цц1/ шц Бшгл з840 10 38.4
з9221490 :щпг!9 5 /5 шг|/ шш ьши 4720 10 47.2
39))4430 0п0 /ршч[:шш1|!/ ш|.1 Бштл 4740 1 4.7
з922] 500 !шршш2ф[9 шщпг!ц шц Бши 25о 20 5.0
392411з0 г1ш!ш[1 п:!|г]6ршш1 шц Бши 500 29 14.5
з9241141 4ш!ш|1 чршш0!1ш!ш1!1: шш Бщи 1 000 10 10.0
з92412)0 0!чрши шц Бши 1 550 20 31 .0
з9241210 с1!чрши чршшБ!1ш!ш1[:!: шц Бши 700 30 21.0

съ+!1[]ьъо 556.0
з9281300 :!ш9[:шш!ш! шрё[р[Ёр ш!1 ьши 2800000 1 2в00 0
3 9281 21 0 ш!2ш!ш! !г{ьр!ьр шш Бши 7000 30 21 0.0

сь+ц|!ьъР 301 0.0
з 92925] 0 рш!п!, щ1шшш[:|-1 шц Бщи 300 50 150

сь+ц[ьъо 15.0
3951 51 00 +п!] п шш ш 40000 5 200 0
з953]500 чпрч! !ипр!Бр шц Бщи 2500 12.5

съ+ццьъс 212.5
39721з',]0 19п!9п' ш1.-.| Бши 8000 4 32.0

съ.тц!'ьъс з2.0
з981]]00 о4[: ршр0шцпгч|1 шц Бши 750 50
3981241 0 !ш!':пчр| фш11 й9г|ш0 г|[:9п9 шш Бщи 1 000 50 5 0.0
39812600 г!шрппп ц]шбпг!!Бп [: шц Бши 350 20 7'о
з 9 вз1 240 г|шррпц !1пгр!р 1 шш Бштл 500 70 з5.0
з 9 83]240 :.!шррпг1 !1пгрЁр 2 шц Бши 4000 5 200
з9831241 о6шп' ё[пр[: '| шш Бшгл 300 60 180
398з1 241 о6шп' ёБпрБ 2 шш Бши 180 0.9
з98з] 241 о6шп, ёБпр[ 3 шш Бш гл 160 20 з-2
з 98з] 241 о6шп, ёБпр[: 4 шш Бши 220 20 44
з 9831 24] о6шп' ё[пр[т 5 шш Бц;тл з60 20 72
398з1244 о6шп, и!ийшш!ш! цц ьшш 180 10 1.8

3 9 в31 245 о6шп' БЁцпг[1 шц !пшп ] з00 4о 520
39831246 о6шп, ББ1п:! /ш0ш!|:/ 1 шш !пип 650 40 26.0
3 98з] 24 6 о6шп' БЁг1пт! |шц1ш\:|| 2 |,|] !пип 1 000 5 5.0
з98з]280 11щш![: 0шррЁ1пг :![:9пч шш Бши 860 90 77 .4
з 98з1 28] 11щш![: {шррБ1пг 1шв шш Бши 320 60 19.2.

3 9831 282 !шБпцр т)шррЁ1пг 1шр 1 шц Бши 90 200 18 0
3 983 1 282 ;пг о ц]шопЁ:пг пшв 2 шц Бши 250 2о 5.0
з 9 83]282 !шБпчр г1шррБ1п| |шр з /0пипп$ьрпщ/ шш Бши 600 ]0 6.0
3 9 831 2вз г:шиш!}: 1г{ш9{ш! 1шр шш }:ши в00 60 48.0
з 98з1 276 1пг4шрш!!Ёр! г{шррг!ш! !;пгр[р |л.1 Бши 750 !0 7.5
39835000 тшиш[4 0шррЁ1пг ёп4, фш1и1ш шш Бшш 4900 2о 98.0

398з5000л :шиш[1 г1шрр[1пг ёпц! ч1|ш[:!' фш1ш;ш шц [ши 1 000 6 60
398з6000 лг]Б1 шпс]прш!ш! 1 шш Бшгл 2000 20 40.0

оъ.|шшь]!!с 59з.1

41111100 !г!щ[1пг 2пгр /чршшЁ!1ш!ш1[:'!,ишр [ !шп0, шчшршипг[ шц Бши 2000 40 80.0

с!+шшь!с 80.0
441114з9 ьп |.; шш !ц 4000 90 360 0
441112оо Ё0Б!и шц !ч 1 000 500 500.0



44192700 шш Бши 1 000 10 10 0
4419290о

'шфп! рщ!!п1,' 2|!шршдш шц 6ши 7оо 10 7о
44112720 $р0ч! Бр ш|-1 Бши 2000 з 6.0

сь+ц!'[ььо 883,0
44))1141 рп!ш!; /ппш!/ ш1.-1 Бши 5000 о 450
44221141 рп!ш1-4 /4шрш!|/ шц Бши 500 10 50

оъ+ц|]ьъс 50.0
44зз]] 00 |фш.]ипцт,ьп шш иппф 200 20 40

сь+ш!!ьъо 4.0
44423612 1ч1пг! /шчшг]&!![р 1 шш Бши 1 000 5 5.0
4442з612 [1ч1пг! 6шщшт]Ё!!&р 2 шш Бшш 1700 ) з.4
444)361) цч!п|1, ащчщ|{ь0![р /ьр!!чпцг.1ш!!/ шц [:щи 250 2 05
4442320о шои!6ш!!йд шш Бщи 75000 4 з00.0
444111 000 6прш!1 ц[.1 ьшл 15000 4 600

съ+ц!]ььс 368.9
44511з43 1ш1 1[ ! п!!6р шц [ши 85000 85.0
4451 1 350 4ипгиш!шБш[!Бр| шш1рЁр шш Бщи 200 25 5.0
4451122о ишрши[шш[1 ёБпр[: 9пр6|тр!Бр 1 шц Бшш 2000 20
44511220 лшршиБшш! 6[пр! 9лр6[р!Бр 2 ш|1 Бши 3000 з.0
44511))о лшршшЁшш! 0!пр[ чгр6!р|,[р 3 шш Бши 1 9500 19.5
44511)21 ишрши[шш! ёЁпр}: 9пр6[:р!0р 4 шш Бшш 1 500 10 15 0
44511222 ишршш&ош! 0!пр[: 9пр6[:р!6д 5 шц Бши з0000 30.0
4451122з шшршиБош[1 6Ёпр! чпр6[:р!0р 6 !.,|1 Бши 700 10 70
44511)5о ьг|цшРп|1Р шш 0[ип 20000 200
4451 1 250 [г1!шрпгцр ]л.1 г1Бир 2000 10 20.0
44511270 .|пгр6 шш Бши 6000 3 18 0
44511з70 чпрь!р!ьр! Бшг.|шрш6пг!Бр шш Бши 15000 2 300
44511з71 1пр&[:р!ьр[т Бшс.]шрш6пт!&р |'ш 1рш!шчг1 з0000 1 30 0
445]1з50 щиптиш!ш[ш! 1 шш Бши 45000 2 9 0.0
445] 1 з5 0 чип:иш!шБш[ 2 шц [ши 1 500 5 7.5
44511700 шг]Рщ2п|г]Р шц Бши 3000 5 1 5.0
445з]] 60 1!1ьр[:р!ьр [: щип;иш!!Б1 !л.1 Бши 500 50 250
44511124 1пчшр[:ш!!Ёр /ч1шши:)шшБ/ шш Бши 1 000 25 25.0
44511240 лр9ш!!Бр !л.| Бши 1 000 з 30
445211)0 ппш1, фшцщ!1т,ьг шш Бщл 3000 10 з0'0
44521150 ! !шБпцр[: шш [тши 500 10 5.0

съ+ц|'ьъс 485.0
4461 400 щп ч.1ьр |,|] Бши 2000 5 10 0

съ+ц!]ьъс 10.0
4в11500 9рш!!р! 12 чпг1! шц ип!ф 70о 5 з'5

44820000 шрьп |,.п 2500 10 250
44вз] ] 00 г1ш6пт6ш!!Бр /ц]шци|!ш!Ёп/ |,{1 !+ 2550 20 51 .0
448з] 500 пг6|т2!Бр шш чч 600 '10 60
44в11 900 чБ1ш р с{Бошш!..1ш! ё [ш с{п р г1ш! /ц6! прш9| ш1 [:/ !1 п гр6р шш Бшш 600000 600.0

оь+ц[|ьъо 685.5
44921100 ч[:щш' шщ[:иш[1 шш !ч 550 з0 16.5
44921 5 00 &ьфшт1шь[:! ч|щшш1[:! шш :чч 754 10 75

съ.}шшь1,г 24.о
с'1,1шшь1,с

501 62.з5

&ь
45211295 фш1 и& !шппг9шишрр[р}: ип9прптг! Брш[1ш1п:! [:

Бщ!ш!0[ц[ь !:лцр!ппт] ш[.1 г}рщ{ 1 000000 1000 0

[ъ.}шшь1,с 1000.0
45311]51 |цшдршг{прпг0!Ё1|г|п!иш0пгб(:иБ1шг1рп:0 |л.1 г1пш0 550000 1 550 0

[ъ}шшь1,[ 550.0
45421144 фш1и! Б!и !щщ(ш6 ш:|ц: ч< цпшш 2000000 1 2000 0

45461 1 00
)ь1'рьп п' 2[:!пгр1 пг!! Бр[: п!ршз [' ! ! п р пчг1ш!

дэ[цшиш!о!Ёп +< г}пшш 1 з000000 1 13000 0

гъ.}цшь'1,[ 15000.0
48421204 }: ш 0ш! ш п9:щ; [:! 6ршчп ш] [:! ф ш рьр! Ёр | Б ш г{шрш6пг +( г}пш{ 3800000 1 3в00.0

!ъ+шшь!с 3800.0
!1,.}цшьъг 20350.0

' !1[!|!тт:*.1,. |:';::: Ё +.,::]..{!!]$ 
?:.:1, ...';.#,,$}д::! | 1[

$.!

50]]1]з0 !1г{ш пг1Бр[! ш! Бр[: г]!р ш! п р пчт1ш! 6шпш1 п гр1 п т!'0Бр шц г}рш!-[ 200000 200 0

оь+ц!!ььс 200.0

50з] ] 250
0шш6Б!шБш!п1 шшрр6р| чшБщш!0ш! 6шпш1пгр1 п:!!Бр
/ршррр[9!йр[: 1[:чрш(прп:г17

шш 4пшш 600000 600 0

50з]]з00
(ш! !1 1р ш0ш р ! г1ш1 |т! :1Бр6! ш! Бр | и ь|ш!| !ч ш ! ш!
цшшошп[;п:ц1 шш г|гщс1 50000 5 0.0

съ+ш[-гьъс 650.0

50411190
(ш|чш[рг1ББш1|! ошррБр| г{Брш!прп9г1ш! [ щшБчш!т!ш!
6шпш;пгр1пг!!Ёр шц 4пш{ з70000 з7 0.0

съ+ц['-|ьъ[ 370.0

5 ]5з1 20 0
[1ь!ирш|4ш! шшррБр|:' ошрршг{прпгт1!Ёр[: с{0рш!прпч{ш1:

[: щшБщш!т1ш! 6шпш1пгр1пг!!0р ш!.1 г}рш{ 400000 400.0

съ+ц[]ььг 400.0
5061 0000

{10г{ш ш!чп гр1 ш! шшррБр ! г{Ёр ш! п рп9г)ш! [: ч ш Б ч ш! 0ш!:
&шпш1пгр1пг['[Бр шш 4пшш 960000 1 960 0

рь+(||-гь1'г 960.0
50751100

с1[рБ1ш!!ьр| с{6рш!прпч0ш[ [ чшБщш!г)ш}:
6шпш1пгр1пг!!Бп шц цпш0 780000 1 780 0

гъ+ц(]ьь[ 7во_о
ппш0]з000000!1 3000 0

оь+ш[]ьъо 3000.0
601 81 1 00 лр!ьр! г{шр6ш!чш1п:р1пг!,1.п^рц[, Б6и т||шш[:! шц г}пшш 600000 1 600.0

601 в11 00 .{!ршт1ршрё !плг!![: г{шрёш!чш1пгс1 шш г|рш0 400000 1 400.0
съ+ц!!ьъс| 1000.0

6411 0000 фпциш]!! &шпш1птр1пг![:Бр ш|.-] 0пшш 950000 1 950 0
съ,\ц!-гь'о1 950.0

64211110 Б0ш]1:! ББпш|шпцш] |т! 6шпш]пцр-]пг!![р шш 4пщ0 з228о0 322.8
6421112о }:'рш г] шрщ 

| [:! Б Ёпш |ц п ц щ] 1:! 6ш пш 
1 
п г р1 пт'!'| [р шц цпщш 500000 500 0

сь+ш0ьъс 
| 822.8

65з]]]00 .'6|]лгш[]ш!п. р' ш! рд2рпп с1 ш|.-1 1 п ш{) 8з59200 8359 2
6 5з1']1 0 0 Ё"ипш!']ш!п:р:д! Бчппш9пт..] 

]
шш ппш0 5000000 5000 0

съ+ц[{ьъс 
1

13359.2
653211 00 :10|]ипш!]щ! цшпр!п[: 2шБшчлр6пгг1 шш г}пшш 2000000 2000 0

оъ+ц['ьъс 
| 2000.0

66511100 {]ш!р[ шщшБпц.]шчпптр] п:[: !.л.1 щц.1 50400 6 ? п]
665]1170 |фп|шщ+пшц][:яп9!Ёп! шщшБпг.]ш4рпгр1пг! ш|.] шц.1 50000 5 0.0



/

съ+ц[|ьъо 352.4
71241200 |ш|шшч6йд!: щширшиипгг1, 6ш]тшЁр[ 9 1л.1 ппшш 950000 1 95 0.0

гъ+ц[''гьъ[ 950.0
/1 351 540 5ь|ш![:!ш!ш! Бш!пцпгр1ш! 6шпш1пгр1п:!!Бр шц ппш{ з 00000 300 0

съ+ц{]ьъс 300.0

72211139
(шг1ш9 ш!9ш1 [:! [2! |ш г!ршчрг1шт: Бш 0ш ! шр92ш1 |т!
6пшопш:Б! фшвЁр!БпБ ц|эш!.:г1ш! 6шпш:пгв:п:!!Бп

+< 4пшш 4140000 4140 0

7221117
Б ш2г{ш ч шБш|4ш! Б шг1ш !шр91ш.1 [:! 6р ш9р ш1 [:|:

йшвБв!;БпБ п|оп:;[;п[п::}; 6п;;пп;;:п:я:п:|;};Бл
шц 4пщш 21 0000 210 0

съ+ц["|ьъо 4350.0

72411700 '}п с1Б!ш1 [:[ ш! г{ш! п г0! Бр Б п ш р!!9[: 6шпш1 пгр п г!!Бд шц г}пш0 500000 500 0

оъ+ц!]ььс 500.0

72611100
(шбш!шрч1ш1 !! и[[т![:!ш!ш! оёш!цш!с|ш1:
6шпш:пгр:пг!!Бп

шш г}пш0 960000 960.0

гъ+11!|ьъг 960.0
75241200 0чи|!ш!пгр1ш! 6шпш.1пгрпг!!Бр шш ппшш 500000 500 0

сь+ш[!ьъг 500.0
79111100 |_: р ш т] ш [-,1 ш! |ш п р Б р г1ш и т.] п гр1 ш! 6ш пш 

1 
п г р1 п : шц пш{ 960000 960.0

оъ+ц!!ььо 960.0
79211150 [-/пгг1[: и п рш!ш'! 6шпш1 п гр1 п г!! Бр шш 0 1 000000 1000 0

оь+ц[]ьъо 1ооо.0
79221зо0 |.-|'шршш1[! г1[:9!лрц[: 6шпш1пср1пг!!!р шш !.! 400000 400 0

оъ+ц[|ьъг 400.0
793411 60 ццлрьр!.1,ч[' 6шпш1 пгр1пт!!Бд /пЁрп[!4!!ф +< ппш0 2000000 2000.0

съ+ц!'-|ььг 2000.0

79411210
9!п:г1![р|т Б0и !шчг{ш6 |тпр|р1шис{ш!ш1:
6г:;ппд;тп:в п:};1;Ёп

|л.1 1пш{ 780000 780.0

съ+11[''ьъ[ 780.0
795311 00 9ршг]пр ршр9г!ш!п:р1ш! 6шпш1п:р1пг!!Бр +< ппш{ | 500000 1500 0

оъ+ц{]ьъс 1500.0
7981 0000 5щшо :/шщшищп бЁ6шпБп/ +( Бщи 20000 200

7981 0000 5чшчр ш !ш! 6шпш.1 пгр1 п г!! Ёр /ршриБч !! и ьр ш ! ш[т-{/ +< Бши 30000 з00

7981 0000
$щш9рш{-4ш! 6шпш1 пгр1пт!!Бр /чшшиш
шБп!!шиц]ш[:ш!/ +< ьши 260400 6 1562.4

7981 0000 3щш9рш!ш! 6шпш1пгр1пг!!Ёр /рщ!Бр/ +( Бщи 40000 1 400
7981 0000 3чш9рш[-,1ш! 6шпш1пгр1пг!!Ёр /ипц]ц&п/ ч< Бши 6 70000 420 о
79810000 3чшчрш!ш! 6шпш1птр1пг!!Ёр /п:пБчпг:о!Ёп/ ч( Бщи 1 000 500 500 0
7981 0000 !шопшцшт, 6шпщ:пгв; пг!!Ёп /Бпщт.]Бпшипц]шБп/ ч< Бши 450 450 2о) 5

79в1 0000
$чшчрш !чш! 6шпш.1 пгр1 пг!! Бр /и61Б!ч ш ш с{ш !ш!
ц]щБш!ш!/ ч< ши 9000 2о 180 0

7981 0000 3щш4рш[1ш! &шпш1пгр1п:!!Бр /рг1р +( Бщи 650 00 650
7981 0000 3щш4рш!ш! 6шпш1пгр1п:!!Бр /!-.:ипп[ щш: пццш!/ ч< Бши 2000 00 200 0
7981 0000 3чшчрш!ш! 6шпш1пгр1пг!!&р фпр; ч< Бши 420 00 42.0
7981 0000 3щшчрш!ш! 6шпш:пгв:пг!!!п /оп|тя7 0/ Бши )81 00 2в.1

79в1 0000
5чшчрш!ш! 6шпш.1п:р.1 пг!!Ёр /чшоишп![р р!р*з['|:
ч п |о ш пп п|га1 п |т,'!,ьпь/

+< Бглгл 45 00 18 81 0

7981 0000
5чш9рш!ш! 6шпш1 пгр1пт!!Бр /щшшшшп!0р
Блш ш пл пц;[;ц; Бп:;: п:;о/

ч< Бштл 4500 126 5 67.0

7981 0000
5щш9рш!ш! 6шпш.1пгр1пг!![р /9пг9ш4рпгр пг!пг0 шп!ш
рш9ширш9рЁр' 1пгшш!!шр!Бр' ршри!ч!Ёр,
п] п;;Бп:;!; п;; !;!;Ёп/

+< г}пш{ 852000 1 в52 0

7981 0000
5чшчрш!ш! 6шпш1пгр1пт!!6р / (ш1ЁрЁ!

шрёш!шчрпгр.1ш0р :1Бишг1ш шпшр!ш!6р 1 6 1 9_рг1 г1г1,

06! шоп п:в:пт!/

+< Бц;пл 4900 200 9в0 0

7981 0000
5чш9рш!ш! 6шпш.1пгр1 пт!!!р /(ш1шшиш!! чшит1птр1 ш!
рш!чшрш![: ч[:иш!ш! ш2|шшлпгр1п:!!Ёр/

ч< Бш цл 5600 200 1120 0

7981 0000
$чшчрш!ш! &шпш.1пгр1п:!!Бр дв 20 рг} цг1 !ш!ш!9
Бш1(-4ш!чш! чшрг1Ёрр/

+< Бшш 67о0 200 1340 0

79810000
5чшчрш!ч ш! 6ш пш.1 п:р1 п г!! 0р !)с[рши Рп р п1 ш! (п г2|!р
[ ш1 р Б!1 ш9 п гш п:г[!ши!рп:р1 п г! р

ч< Бшпл 5600 200 1120 0

7981 0000
5чшчрш!ш! 6шпш1пгр1п:!!Ёр /(ш1шшиш!д 3_10 р4 ц4.
[ши [.)шшш!1ш! [: шршрш!ш! г1рш0!Бр[: г{!чш.1пгр1пг!!!р[:

0Б!шчрп:р1пг!/
+< Бши 6800 200 13 6 0.0

оъ+ц[ьъо 10710.0
799611)о [-[шо!ш4|иш!ш! ; п:цш![:шпьш0ш0 6щпш; пгв:пг!!! шш ппш0 700000 700 0
7999111 0 [!цпг![ пгр1ш! 6шпш1пгр1пг!!Бр !л1 ц;т] 300000 300.0

сь+ш!-|ьъР 1000.0
90511150 |.-]'ор[: фп|шшг1рг1ш! 6шпш1пгр1пг!![р шц ппщ0 з5з600 353.6

оъ+ц['ьъс 35з.6

90921 1 00
!_1|шшшБш!г1ш! [ г!ш!шрпч6!!р[: п1!1ш9г1ш!:

6шпш п:а;п;1;1;Ёп
+< 4рщ{ 2з2000 232 0

90911110 -Б!рБр| с1шррг1ш0 6шпщ| пгр|п:!![п +< ппш{ 2000000 2000.0
сь+ш!]ьъР 2)32.о

9)з11)1о (пг2ш! г{Бр'[Бр[ щ ш и р ш шип:г1 [ фшр!ршт-{п р п гг1 +< 4пщ{ 5000000 5000 0

9231 1 21 0
Рш!г1ш !шчлр6! ьр ! !п г1ш[:9 с1ш ипг9 г{п1 0ш пш1 пгр1 п г!!Ёр
/!п!!шлБщБпБ щшшпщципгт]/

+< 1пш{ 13000000 1 3000.0

оъ+ц[|ьъг 18000.0

92521110
|_}ш!чшр ш!! 6р п т0 9 п:9 шБш! 1Ёш! Бр[: !1шч0ш [1 Ёр ч с1ш!

6шпш:пгр:пг!!Ёп ч( г}пш{ 2071 0000 20710 4

оъ+ц!]ьъо 20710.о
9вз 9] 20 0 [1116шпш1п:р |л.1 г}пщш 1 000000 1000 0

оъ+ц!]ьъг 1000.0
_с!'}цць|[ 93050.0

[ъ.}шшььс 1 63562.35


